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HW #26: Worksheet on Riemann Sums
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— 4+ 4+ 2] = 5182
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3+2+5+3)_.95

+3+4+3+2=14
+44+3+24+1=13
H+35+35+254+1.5=13.5

ketch graph.

40)(4) + (36)(4) + (26)(4) = 408 gallons
36)(4) + (26)(4) + (8)(4) = 280 gallons
38)(4) + (30)(4) + (18)(4) = 344 gallons

a) 120+ (8.9)(3) + (6.8)(2) + (6.4)(4) + (5.9)(3) = 203.6 gallons
b) 120 + (6.8)(3) + (6.4)(2) + (5.9)(4) + (5.7)(3) = 193.9 gallons
a) 113 — ((5.5)(3) + (2.7)(2) + (1.6)(3)) = 86.3° F

b) 113 — ((2.7)(3) + (1.6)

6)
6)(2) + (0.8)(3)) = 99.3° F
+ (4

- (9.2)(10) + (7.0)(10) + (2.4)(10) + (4.3)(10) = 229 miles.



